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 BGYET-141  

BACHELOR OF SCIENCE (GENERAL)  

(BSCG) 

Term-End Examination 

December, 2022 

 

BGYET-141 : ORE GEOLOGY  

AND INDUSTRIAL MINERALS 

Time : 2 hours Maximum Marks : 50 

Note :  All questions are compulsory. Marks allotted for 

each question are indicated against it. Draw 

well-labelled diagrams wherever necessary.  

1. Briefly answer any five questions out of the 

following : 52=10 

(a) List any two ores of zinc with their chemical 

composition. 

(b) Define Clarke of Concentration. 

(c) What are vitrinites ? 

(d) List two Indian examples of Sedimentary 

Exhalative (SEDEX) type deposits. 

(e) What are hypothermal ore deposits ? 

(f) List any four ore minerals of manganese. 
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(g) What are stratiform ore deposits ? 

(h) List any two important deposits formed as a 

result of continental-oceanic plate collision. 

(i) Define gossan. 

(j) How are resistivity survey methods 

conducted ? 

2. Write short notes on any four of the  

following : 45=20 

(a) Contact Metasomatism 

(b) Cavity Filling Deposits 

(c) Black Smokers 

(d) Geobotanical Exploration 

(e) Copper Belts of India 

(f) Mineral Conservation and Development 

Rules – 2017 

(g) Brownfield and Greenfield Explorations 

(h) Aeolian and Beach Placers 

3. Answer any one of the following : 110=10 

(a) What are the four lithotypes of coal ? Discuss 

briefly the origin of coal. 

OR 

(b) Discuss the mode of occurrence of iron-ore 

deposits in India. 



BGYET-141  3   P.T.O. 

4. Answer any one of the following : 110=10 

(a) (i) Elaborate on Lindgren’s genetic 

classification of ore forming processes. 

(ii) Discuss the distribution of gold deposits 

in India. 

OR 

(b) (i) Discuss the characteristic features of a 

typical Volcanogenic Massive Sulphide 

(VMS). 

(ii) Discuss the mode of occurrence and 

uses of barytes. 
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 ~r.Or.dmB©.B©.Q>r.-141  

{dkmZ ñZmVH$ (gm_mÝ`) 

(~r.Eg.gr.Or.) 

gÌm§V narjm 

{Xgå~a, 2022 

 

~r.Or.dmB©.B©.Q>r.-141 : A`ñH$ ŷ{dkmZ  
Am¡a Am¡Úmo{JH$ I{ZO 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  g^r àíZ A{Zdm`© h¢ & àË òH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE 
JE h¢ & Ohm± Amdí`H$ hmo, gwZm_m§{H$V AmaoI ~ZmBE & 

 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma g§jon _|  
Xr{OE : 52=10 

(H$) OñVm Ho$ {H$Ýht Xmo A`ñH$m| Am¡a CZHo$ amgm`{ZH$ 
g§KQ>Z H$s gyMr ~ZmBE & 

(I) gm§ÐU Ho$ ŠbmH©$ H$mo n[a^m{fV H$s{OE & 

(J) {d{Q´>ZmBQ> Š`m h¢ ? 

(K) AdgmXr {Z:ídgZ (SEDEX) {Zjon Ho$ Xmo ^maVr` 
CXmhaUm| H$s gyMr ~ZmBE & 

(L>) A{VVmnr` A`ñH$ {Zjon Š`m h¢ ? 

(M) _¢JZrO Ho$ {H$Ýht Mma A`ñH$ I{ZOm| H$s gyMr ~ZmBE & 
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(N>) ñV[aV-g§ê$n A`ñH$ {Zjon Š`m h¢ ? 

(O) _hmÛrnr`-_hmgmJar` ßboQ g§KÅ>Z Ho$ n[aUm_ñdê$n 
{Z{_©V {H$Ýht Xmo _hÎdnyU© {Zjonm| H$s gyMr ~ZmBE & 

(P) JmogmZ H$mo n[a^m{fV H$s{OE & 

(Äm) à{VamoYH$Vm gd©ojU {d{Y`m± H¡$go g§Mm{bV hmoVr h¢ ? 

2. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m±  
{b{IE : 45=20 

(H$) gånH©$ VËdm§VaU 

(I) Jw{hH$m ^aU {Zjon 

(J) H$mbm Yy_«H$ 

(K) ^ydmZñn{VH$ AÝdofU 

(L>) ^maV H$s Vm±~m n{Å>`m± 

(M) I{ZO g§ajU Am¡a {dH$mg {Z`_ – 2017 

(N>) ~«mCZ\$sëS> Am¡a J«rZ\$sëS> AÝdofU 

(O) dmVmo‹T> Am¡a nw{bZ ßboga 

3. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 110=10 

(H$) H$mo`bo Ho$ Mma Aí_àmê$n H$m¡Z-go h¢ ? H$mo`bo H$s 

CËn{Îm H$s g§jon _| MMm© H$s{OE & 

AWdm 

(I) ^maV _| bm¡h-A`ñH$ {Zjonm| H$s CnpñW{V H$s AdñWm 

Ho$ ~mao _| {ddoMZm H$s{OE & 
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4. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 110=10 

(H$) (i) A`ñH$ {Z_m©U à{H«$`mAm| Ho$ qbS>J«oZ H$m 

AmZwd§{eH$ dJuH$aU na {dñVma go MMm© H$s{OE & 

(ii) ^maV _| gmoZm {Zjonm| Ho$ {dVaU Ho$ ~mao _| 

{ddoMZm H$s{OE & 

AWdm 

(I) (i) EH$ {d{eîQ> Ádmbm_wIrO{ZV ñWyb gë\$mBS> 

(VMS) {Zjon Ho$ {d{eîQ> bjUm| H$s MMm© 

H$s{OE & 

(ii) ~¡amBQ>rµO H$s CnpñW{V H$s AdñWm Am¡a Cn`moJm| 

H$s MMm© H$s{OE & 


